
Q .1  A  higher  refrac t ive index of a  mater ia l  res ults  in ______ .            
A ns  1. a lower critical angle

2. no change in the critical angle
3. a higher critical angle
4. a critical angle of 90°

Q .2  A cc ording to  the Per iodic  L abour  Force S urvey  ( PL FS )  M onthly  Bul let in ,  July  2 0 2 5                       
( M oS PI) ,  how d id  India’s  unemploy ment rate in C urrent Week ly  S tatus  (C WS )  among                  
pers ons  of age 1 5 y ears  and above,  c hange between June and July  2 0 2 5?          

A ns  1. Jumped to 6.0%
2. Remained stable at 5.6%
3. Increased from 5.2% to 5.6%
4. Decreased from 5.6% to 5.2%

Q .3  A n ins trument is  made of one piece of wood,  the s pher ic al  bowl extending into  a           
nec k  and fingerboard ;  the res onator  c overed with leather  and the upper  port ion with          
wood .  Name this  mus ic al  ins trument .        

A ns  1. Ektara
2. Sheng Kheng
3. Kamaicha
4. Bugchu

Q .4  The refrac t ive index of water  is  1 .3 3.  This  ind ic ates  that  ________ .               
A ns  1. light travels 1.33 times faster in water than in vacuum

2. the critical angle of water with respect to air is 1.33
3. a light ray refracted in water from air bends through an angle of 1.33°
4. light travels 1.33 times slower in water than in vacuum

Test Date 30/09/2025
Test Time 11:30 AM - 12:30 PM
Post Name SECURITY ASSISTANT/EXECUTIVE

Section : General Awareness

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076


Q . 5   The S un Temple at  M odhera is  bui lt  in whic h of the fo l lowing arc hitec tural  s ty les?               
A ns  1. Maru-Gurjara style

2. Rock-cut style
3. Indo-Saracenic style
4. Chalukyan style

Q .6  What is  the “A M NE S TY S c heme-2 0 2 5”,  launc hed by  E S IC ,  a imed at?                   
A ns  1. Providing low-interest credit to small businesses

2. Settling disputes related to damages, interest, and insurance coverage
3. Distributing food grains to workers during lockdowns
4. Waiving all medical claims for retired employees

Q .7  The Raja  Bhoj  M ult ic las s  S ai l ing C hampions hip 2 0 2 5 was  held  in S eptember 2 0 2 5 in                      
whic h of the fo l lowing lakes?   

A ns  1. Brahma Sarovar, Kurukshetra
2. Gourisagar Pukhuri, Sivasagar
3. Mansar Lake, Samba
4. Upper Lake, Bhopal

Q .8  O n 1 7  S eptember 2 0 2 5 in Dhar,  M adhy a Prades h,  the Pr ime M inis ter  launc hed whic h                   
nationwide health c ampaign— touted as  the larges t  women- and- c hi ld  health          
outreac h with 1 0  lakh+ health c amps  planned up to  2  O c tober  2 0 2 5?             

A ns  1. Ayushman Bharat 2.0
2. Poshan Pakhwada 2025
3. Mission Shakti Health Drive
4. Swasth Nari, Sashakt Parivar Abhiyaan

Q .9  In 2 0 2 5,  M inis tr ies  of  the Indian G overnment were d irec ted to  s ubmit  reform goals ,                
five- y ear  ac t ion plans ,  by  the high- level  c ommittee led  by  former C abinet  S ec retary                 
Raj iv  G auba,  under  whic h nat ional  framework?        

A ns  1. Digital India 2.0
2. National Reform Vision
3. Mission GatiShakti
4. Viksit Bharat 2047

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


Q .1 0   G undiy al i ,  a  v i l lage known for  its  tradit ional  c raft  prac t ices  es pec ia l ly  pottery ,  is                          
loc ated in whic h Indian s tate?    

A ns  1. West Bengal
2. Madhya Pradesh
3. Rajasthan
4. Gujarat

Q .1 1   In June 2 0 2 5,  whic h wi ld l i fe s anc tuary  reported a s ignific ant inc reas e in the Indian                   
bis on ( gaur)  populat ion,  with the number r is ing from 659 to  788 in jus t  s ix  months?             

A ns  1. Dibang Wildlife Sanctuary
2. Tamor Pingla Wildlife Sanctuary
3. Brahmagiri Wildlife Sanctuary
4. Debrigarh Wildlife Sanctuary

Q .1 2   A cc ording to  data pres ented in the Rajy a S abha in December 2 0 24 ,  how muc h e-            
was te d id  India  generate in 2 0 2 3 -24 ?          

A ns  1. 1.01 million MT
2. 2.05 million MT
3. 1.751 million MT
4. 1.45 million MT

Q .1 3   A n exces s  runoff of whic h fert i l is er  nutr ients  mos t  c ommonly  dr ives  eutrophic at ion                  
and algal  blooms  in lakes  and r ivers?     

A ns  1. Potassium salts and urea (nitrogenous)
2. Zinc salts and nitrate compounds
3. Sodium salts and potassium salts
4. Phosphate compounds and nitrate compounds

Q .1 4   Whic h s tate repealed its  M adras s a A c t  in 2 0 2 5 to  br ing al l  minor ity  educ at ional                     
ins t itut ions  under  one law?     

A ns  1. Jammu & Kashmir
2. Uttar Pradesh
3. Uttarakhand
4. Himachal Pradesh
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Q .1 5   The India–US  A rmy  exerc is e 'Yudh A bhy as  2 0 2 5'  was  the 2 1 s t  ed it ion and was  held                     
from 1 –1 4  S eptember 2 0 2 5 at :       

A ns  1. Mahajan Field Firing Range, Rajasthan
2. Fort Wainwright–Yukon–Donnelly Training Areas, Alaska
3. Auli, Uttarakhand
4. Fort Irwin, California

Q .1 6   What is  the purpos e of DRDO  trans ferr ing tec hnologies  of  nine defence s y s tems  to            
1 0  Indian firms  ( in June 2 0 2 5) ?         

A ns  1. To reduce DRDO’s R&D workload by offloading development
2. To expand indigenous defence manufacturing base
3. To form joint-ventures with foreign defence companies
4. To enhance export of weapons systems overseas

Q .1 7   Who among the fo l lowing s pec ia l is ed in Togalu G ombey aata ,  a  tradit ional  s hadow               
puppetry  art ,  received the Padma S hr i  in 2 0 2 5?          

A ns  1. Joynacharan Bathari
2. Harchandan Singh Bhatty
3. Madugula Nagaphani Sarma
4. Bhimavva Shillekyathara

Q .1 8   In S eptember 2 0 2 5,  Ind ia  ac hieved a his tor ic  miles tone at  the World  A rc hery                
C hampions hips  2 0 2 5 in G wangju,  s ec ur ing their  firs t- ever  gold  medal  in the                  
_______________ .

A ns  1. Women’s compound team
2. Mixed recurve team
3. Men’s recurve team
4. Men’s compound team

Q .1 9   Under  the A ntarc t ic  Treaty  s y s tem and the 1 991  E nvironmental  Protoc ol ,  permitted               
ac t iv it ies  are pr imar i ly :        

A ns  1. peaceful scientific research and regulated tourism
2. industrial settlement and large-scale infrastructure
3. military operations and nuclear testing
4. commercial mining and hazardous waste disposal
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Q .2 0   Whic h wr iter  was  named the rec ipient  of the pres t igious  Kalo j i  Naray ana Rao L iterary             
A ward ,  2 0 2 5,  by  the Telangana G overnment in S eptember 2 0 2 5?             

A ns  1. K Varalakshmi
2. Ranganayakamma
3. N Rama Devi
4. Tenneti Hemalata

Q .1  A  man s o ld  an art ic le for  ₹72 8 after  giv ing two s ucces s ive d is c ounts  on its  marked                  
pr ice of ₹2 ,2 75.  The firs t  d is c ount was  d% of the marked pr ice and the s ec ond            
dis c ount was  equal  in rupees  to  the firs t  d is c ount amount .  F ind the value of d .                

A ns  1. 38
2. 34
3. 32
4. 30

Q .2  A  data s c ient is t  work ing on a predic t ive model  needs  to  maintain s pec ific             
proport ions  in the training datas et .  I f  the rat io  of  3 5 to  2 1  equals  the rat io  of  a                   
number x  to  1 5,  what is  the value of x?     

A ns  1. 22
2. 30
3. 20
4. 25

Q .3
A ns  1. 

2. 

3. 

4. 
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Q .4  Ravina ,  S ujata ,  and S aroj  c an c omplete a  work  of paint ing s eparately  in 3 2 ,  4 8 ,  and                    
64  hours ,  res pec t ively .  They  s tarted work ing together,  but  S aroj  left  after  5 hours .                  
From the 6 t h   hour,  Ravina and S ujata dec ided to  work  on alternate hours  s tart ing       
with Ravina .  In how muc h t ime wi l l  the ent ire work  of paint ing be c ompleted?            

A ns  1. 30 hours
2. 30 hours 30 minutes
3. 30 hours 15 minutes
4. 31 hours

Q
.
5
A
n
s

1. 

2. 
3. 
4. 

Q .6  Four  a l loy s  A ,  B,  C ,  and D c ontain gold ,  s i lver,  and c opper  in the fo l lowing rat ios :                      
A l loy  A :  G old : S i lver : C opper  = 5 :  3  :  2                  
A l loy  B :  G old : S i lver : C opper  = 2  :  1  :  4                    
A l loy  C :  G old : S i lver : C opper  = 3  :  2  :  7                   
A l loy  D :  G old : S i lver : C opper  = 4  :  5 :  3                  
If  8  parts  of  a l loy  A  and y  parts  of  a l loy  B  are mixed with x  parts  of  a l loy  C  and 6                     
parts  of  a l loy  D  to  c reate a  final  a l loy  where G old  :  S i lver  :  C opper  = 7  :  5 :  8 .  F ind the                               
values  of x  and y .  

A ns  1. 

2. 

3. 
4. 

https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap


Q .7  A  c uboid  has  s ide lengths  a ,  b,  and c ,  s uc h that  the s um of the s ides  is  1 5 and the                    
s um of their  s quares  is  81 .  Determine the rat io  ( S quare of s um of s ides)  :  ( Total                   
S urface A rea)  :  ( S quare of D iagonal) .         

A ns  1. 25 : 24 : 1
2. 225 : 24 : 1
3. 25 : 16 : 9
4. 225 : 216 : 15

Q .8  If  50 % of a  number exceeds  2 0 % of it  by  72 ,  then the number is :             
A ns  1. 260

2. 240
3. 220
4. 280

Q .9  A  manufac turer  s el ls  a  produc t  to  a  wholes aler  at  a  profit of 4 0 %.  The wholes aler,  in                    
turn,  s el ls  it  to  a  retai ler  at  a  profit of 60 %, and the retai ler  s el ls  it  to  a  c us tomer at                       
a profit of 2 5%.  I f  the c us tomer pay s  ₹71 4 ,  find the c os t  pr ice ( in ₹)  for  the                   
manufac turer.

A ns  1. 258
2. 255
3. 252
4. 253

Q .1 0   The average weight ( in kg)  of  a  family  of  five members  whos e weights  are 4 0  kg,  4 9            
kg,  57  kg,  66  kg and 3 9 kg is :      

A ns  1. 51.2
2. 49.2
3. 50.2
4. 52.2
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Q .1 1   Radha has  a  monthly  inc ome of ₹80 ,0 0 0 .  S he s pends  4 0 % of her  inc ome on                 
hous ehold  expens es ,  2 0 % on entertainment and 2 0 % on educ ation.  The remaining          
amount is  s aved .   
Due to  a  2 0 % s alary  hike,  her  inc ome inc reas es .  However,  her  hous ehold  expens es                   
als o  r is e by  1 0 %, her  entertainment c os ts  inc reas e by  1 2 % whi le her  expens es  on                    
educ ation remain unc hanged .  Radha dec ides  to  s ave any  leftover  inc ome after            
adjus t ing thes e c hanges .  What is  the percentage inc reas e in Radha’s  s av ings?              

A ns  1. 68%
2. 63%
3. 66%
4. 62%

Q .1 2   The vo lume of a  s o l id  c y l inder  is  55,4 4 0  c m                3  and its  height is  4 0  c m.  What is  the         
total  s urface area of the s o l id  c y l inder?        

A ns  1. 8093 cm2

2. 8052 cm2

3. 8018 cm2

4. 8090 cm2

Q .1 3   Karan and A r jun s tart  a  bus ines s  together.  Karan inves ts  ₹83,0 0 0  more than A r jun                
for  4  months ,  whi le A r jun inves ts  for  3  months .  O ut of a  total  profit of ₹7,1 1 3,  Karan’s                   
s hare exceeds  A r jun’s  by  ₹2 ,3 71 .  F ind the amount inves ted by  Karan.             

A ns  1. ₹2,48,932
2. ₹2,48,900
3. ₹2,49,000
4. ₹2,48,989

Q .1 4   The profit made on a produc t  is  2 9%.  What is  the los s  percentage (c orrec t  to  two              
dec imal  places)  inc urred on the s ale i f  the figures  of both c os t  pr ice and s el l ing pr ice                 
are interc hanged? 

A ns  1. 19.84%
2. 22.48%
3. 24.34%
4. 19.97%
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Q .1 5 
A ns  1. 

2. 

3. 

4. 

Q .1 6   Two graduate s tudents ,  A r jun and Bhavana,  are running on a c irc ular  trac k  with a          
c irc umference of 60 0  metres .  A r jun runs  c loc kwis e at  a  s peed of 5 metres  per               
s ec ond,  whi le Bhavana runs  c ounter- c loc kwis e at  a  s peed of 3  metres  per  s ec ond .  I f                     
they  s tart  from the s ame point  at  the s ame t ime,  how long wi l l  i t  take for  them to                
meet for  the 5  t h   t ime?

A ns  1. 6 minutes and 15 seconds
2. 6 minutes and 45 seconds
3. 7 minutes and 15 seconds
4. 5 minutes and 45 seconds

Q .1 7   A  r ight  c irc ular  c y l inder  having radius  2  m and a height of 7  m is  fil led  with water.                
The quantity  of  water  ( in l itres)  whic h c an be fil led  in the c y l inder  is :                  

( Us e   π =    )

A ns  1. 79,000
2. 88,000
3. 92,000
4. 80,000

Q .1 8   A  produc t is  s o ld  at  ₹1 ,771 ,  after  a  d is c ount of 2 3 %.  What is  the marked pr ice of the                     
produc t?

A ns  1. ₹2,100
2. ₹2,300
3. ₹2,270
4. ₹2,052
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Q .1 9   A  regular  hexagonal  garden with eac h s ide meas ur ing 1 4  metres  is  s urrounded by  a             
c irc ular  jogging trac k  that  has  a  radius  of 2 1  metres  from the centre of the hexagon.            
Find the s um of the per imeters  of  both s hapes .         

A ns  1. 206 metres
2. 216 metres
3. 196 metres
4. 224 metres

Q .2 0   A  waterc raft  takes  6  hours  1 5 minutes  to  travel  4 8 km ups tream and 3  hours  4 5              
minutes  to  travel  81  km downs tream in a  r iver.  I f  the waterc raft  travels  2 1 6  km                
ups tream and then 2 1 6  km downs tream, how muc h total  t ime wi l l  i t  take and what is              
the waterc raft ’s  s peed ( in km/ hr)  in the s t i l l  water?            

A ns  1. 

2. 

3. 

4. 

Q .1  If  + means  −,  − means  × ,  ×  means  ÷  and ÷  means  +,  then what wi l l  c ome in place of                
the ques t ion mark  ( ? )  in the fo l lowing equation?        

2 9 + 1 4  ×  7  ÷  1 1  − 9  = ?        
A ns  1. 130

2. 110
3. 120
4. 126

Q .2  What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?            

2 0 3      1 89   1 70     1 4 6    1 1 7      ?
A ns  1. 91

2. 83
3. 85
4. 89

Section : Numerical or logical or Analytical Ability and Reasoning
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Q .3  Refer  to  the number and s y mbol  s er ies  given below and ans wer  the ques t ion that           
fo l lows .  C ounting to  be done from left  to  r ight  only .             
( NO TE :  A l l  numbers  are s ingle d igit  numbers  only . )             

( L eft)      €    *    @  %  £   3    8    8    $  @  8   $  £    9    £    £    4    $  %  1    2    ©  ( Right)

How many  s uc h numbers  are there eac h of whic h is  immediately  preceded by  a          
s y mbol  and als o  immediately  fo l lowed by  a  s y mbol?            

A ns  1. 5
2. 2
3. 3
4. 4

Q .4  A  is  the daughter  of C 's  s is ter  B.  D  is  the hus band of C .  E  is  D 's  father.  How is  A                       
related to  E ? 

A ns  1. Son's wife's sister
2. Son's wife's mother
3. Son's wife's sister's daughter
4. Son's wife's mother's sister

Q . 5   S even boxes ,  A ,  B,  C ,  D,  E ,  F  and G ,  are kept one over  the other  but not  neces s ar i ly  in                      
the s ame order.  O nly  A  is  kept above F.  O nly  D  is  kept between F and C .  O nly  E  is  kept                   
below B.  How many  boxes  are kept below C ?   

A ns  1. 1
2. 3
3. 4
4. 2

Q .6  P,  Q ,  R,  S,  T,  U and V  are s itt ing in a  row,  fac ing north.  No one s its  to  the left  of  U.                    
O nly  four  people s it  between U and R.  O nly  three people s it  to  the r ight  of V.  P  s its  to                
the immediate left  of  S.  Q  is  not  an immediate neighbour  of V.  How many  people s it             
between P  and T?

A ns  1. 3
2. 4
3. 1
4. 2
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Q .7  In a  certain c ode language,  ‘JUS T ’ is  c oded as  ‘ 1 573 ’ and ‘UNIT ’ is  c oded as  ‘2 1 64 ’ .  How                      
is  ‘U ’ c oded in that  language?     

A ns  1. 4
2. 1
3. 3
4. 2

Q .8  S ix  people,  B,  C ,  D,  I ,  J  and K ,  are s itt ing around a c irc ular  table fac ing the centre.                   
O nly  two people s it  between B  and I  when c ounted from the r ight  of I .  K  s its  to  the                
immediate left  of  J .  I  s its  to  the immediate r ight  of C .  Who among the fo l lowing are                 
the immediate neighbours  of D? 

A ns  1. K and B
2. J and I
3. C and J
4. C and B

Q .9  S elec t  the pair  that  fo l lows  the s ame pattern as  the one fo l lowed by  the two pairs            
given below.  Both pairs  fo l low the s ame pattern.    

BHM  :  DJO 
G S N :  IUP    

A ns  1. DOT : EPU
2. UPK : WRM
3. AWS : CYZ
4. QMH : MIE

Q .1 0   E ac h of the d igits  in the number 864 2 571  is  arranged in as cending order  from left  to             
r ight .  What wi l l  be the s um of the d igits  whic h are fourth from the left  and s ec ond             
from the r ight  in the new number thus  formed?   

A ns  1. 13
2. 9
3. 12
4. 11
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Q .1 1   In a  certain c ode language,  ‘get  it  r ight ’ is  wr itten as  ‘vg ft  rg’ and ‘y ou were r ight ’ is                 
c oded as  ‘uh it  ft ’ .  How is  ‘ r ight ’ c oded in that  language?               

A ns  1. uh
2. vg
3. rg
4. ft

Q .1 2   S elec t  the pair  that  fo l lows  the s ame pattern as  the one fo l lowed by  the two pairs            
given below.  Both pairs  fo l low the s ame pattern.    

ZG R :  DLV  
NC X :  RHB  

A ns  1. JOA : OSG
2. HME : LSJ
3. KYC : PEH
4. LFT : PKX

Q .1 3   Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ter              
pairs  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  pair  DO E S                
NO T belong to  that  group?  
( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their         
pos it ion in the letter- c lus ter. )       

A ns  1. ZA – DX
2. NE – RC
3. HU – LR
4. RG – VD

Q .1 4   What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?            

1 5   2 2     3 3     50    71    98  ?
A ns  1. 109

2. 129
3. 104
4. 119
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Q .1 5   Read the given s tatements  and c onc lus ions  c areful ly .  A s s uming that  the information              
given in the s tatements  is  true,  even if  it  appears  to  be at  var iance with c ommonly              
known fac ts ,  dec ide whic h of the given c onc lus ions  logic al ly  fo l low(s)  from the                 
s tatements . 

S tatements : 
S ome c hairs  are tables .   
A l l  tables  are furniture.   

C onc lus ions :   
( I )    S ome furniture are c hairs .  
( I I )     No furniture is  a  c hair.   

A ns  1. Only conclusion (I) follows.
2. Neither conclusion (I) nor (II) follows.
3. Only conclusion (II) follows.
4. Both conclusions (I) and (II) follow.
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Q .1 6   Read the given s tatements  and c onc lus ions  c areful ly .  A s s uming that  the information              
given in the s tatements  is  true,  even if  it  appears  to  be at  var iance with c ommonly              
known fac ts ,  dec ide whic h of the given c onc lus ions  logic al ly  fo l low(s)  from the                 
s tatements . 

S tatements : 
A l l  furs  are rabbits .     
A l l  furs  are plants .     

C onc lus ions :   
( I ) :  S ome rabbits  are plants .      
( I I ) :  A l l  plants  are furs .         

A ns  1. Both conclusions (I) and (II) follow
2. Only conclusion (II) follows
3. Only conclusion (I) follows
4. Neither conclusion (I) nor (II) follows

Q .1 7   I  s tarts  from Point  A  and dr ives  5 km towards  the north.  He then takes  a  r ight  turn,            
dr ives  2  km, turns  r ight  and dr ives  9  km.  He then takes  a  r ight  turn and dr ives  7  km.                
He takes  a  final  r ight  turn,  dr ives  4  km and s tops  at  Point  P.  How far  (s hortes t                 
d is tance)  and towards  whic h d irec t ion s hould  he dr ive in order  to  reac h Point  A              
again?  ( A l l  turns  are 90 °  turns  only  unles s  s pec ified . )               

A ns  1. 5 km to the east
2. 6 km to the north
3. 4 km to the west
4. 5 km to the south
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Q .1 8   E ac h of P,  Q ,  R,  S,  T,  U and V  has  an exam on a d ifferent day  of the week  s tart ing on              
M onday  and ending on S unday  of the s ame week .  V  has  an exam on Fr iday .  O nly  two             
people have an exam between Q  and V.  O nly  four  people have an exam between R and    
Q .  S  has  an exam immediately  after  T.  P  does  not  have an exam on M onday .  Who has            
an exam on S unday ? 

A ns  1. T
2. S
3. R
4. U

Q .1 9   Refer  to  the given letter,  s y mbol  s er ies  and ans wer  the ques t ion that  fo l lows .                 
C ounting to  be done from left  to  r ight  only .      

( L eft)      H  H % K S  = R *  ?  + C  B  C  # Q  N T  ^  U           ( Right)

How many  s uc h s y mbols  are there,  eac h of whic h is  immediately  preceded by  a  letter               
and als o  immediately  fo l lowed by  a  letter?        

A ns  1. Two
2. Four
3. Three
4. One

Q .2 0   In a  certain c ode language,  

A  + B  means  ‘A  is  the mother  of B ’ ,        
A  – B  means  ‘A  is  the brother  of B ’ ,        
A  x  B  means  ‘A  is  the wife of B ’ ,        
A  % B  means  ‘A  is  the father  of B ’ and       
A  # B  means  ‘A  is  the daughter  of B ’ .        

How is  C  related to  R i f  ‘C  – V  # L  x  N % T  + R’?          
A ns  1. Brother’s son

2. Sister’s son
3. Mother’s brother
4. Mother’s father

Section : English language
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Q .1  S elec t  the mos t appropr iate A NTO NYM  of the under l ined word in the given s entence.           

The nurs e gave  expl ic it    ins truc t ions  not  to  touc h any thing.        
A ns  1. Plain

2. Drastic
3. Implicit
4. Ordinary

Q .2  S elec t  the mos t appropr iate one- word s ubs t itute for  the under l ined part  in the given             
s entence.

A fter  weeks  of bland meals ,  he began to        as k  for  earnes t ly      s omething s pic y  and   
fl avorful . 

A ns  1. crave
2. snub
3. reckon
4. float

Q .3  Parts  of  the fo l lowing s entence have been given as  options .  S elec t  the option that          
c ontains  a  s pel l ing error.     

M i l l ions  of innocent people were exterrmminated in c oncentrat ion c amps  in the          
S ec ond World  War.  

A ns  1. in the Second World War.
2. Millions of innocent people
3. were exterrmminated
4. in concentration camps

Q .4  S elec t  the mos t appropr iate option to  fil l  in the blank .         

For  the s c ience fa ir,  Bob brought s everal  items  _____ a  model  vo lc ano ,  a  pos ter  board ,                  
and s amples  of d ifferent roc ks .    

A ns  1. :
2 . ,
3. .
4. ;
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Q . 5   S elec t  the mos t appropr iate option to  fil l  in the blank .         

What a  beautiful  s ight  ______   
A ns  1. ?

2. ,
3. :
4. !

Q .6  S elec t  the mos t appropr iate option to  fil l  in the blank .         

The beac h was  s unny  and ________ ,  y et  the hotel  was  quite expens ive.          
A ns  1. serene

2. boisterous
3. chaotic
4. dreary

Q .7  O ne of the four  highl ighted words  in the given s entence is  inc orrec t ly  s pelt .  Identify                
the INCO RRE C TLY s pelt  word .      

In his  delus ional   eauphorea ,  he fa i led  to  s ee how his         prejudiced  ac t ions  would  
ult imately     c ontaminate  the unity  of  the group. 

A ns  1. delusional
2. eauphorea
3. prejudiced
4. contaminate

Q .8  S elec t  the mos t appropr iate s y nony m of the highl ighted word in the given s entence.          

E ven dur ing the c r is is ,  s he remained         phlegmat ic ,  c almly  analy s ing the s ituat ion      
without s howing any  s ign of panic .   

A ns  1. resilient
2. apathetic
3. melancholic
4. passionate
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Q .9  S entences  of a  paragraph are given below in jumbled order.  A rrange the s entences  in         
the c orrec t  order  to  form a meaningful  and c oherent paragraph.      

( P)  A c quir ing a new language provides  valuable acces s  to  d ivers e c ultures ,  ideas  and                
worldv iews .  
( Q )  This  gradual  progres s  eventual ly  res ults  in fl uenc y  and enables  meaningful               
c ommunic at ion in real- wor ld  c ontexts .        
( R)  O ver  t ime,  s uc h regular  expos ure fos ters  c onfidence and reduces  the anxiety             
as s oc iated with making errors .   
( S )  A  highly  effec t ive approac h involves  immers ing ones elf  dai ly  through               
c onvers at ions ,  books  and media .      

A ns  1. PSQR
2. RPQS
3. SRQP
4. PSRQ

Q .1 0   S elec t  the mos t appropr iate art ic le to  fil l  in the blank .  I f  no  art ic le is  needed ,  s elec t                        
'No art ic le required ' .   

M y  s is ter  enjoy ed _____ firs t  half  of  the play ,  but  s he was  d is appointed with the                
s ec ond one. 

A ns  1. No article required
2. a
3. an
4. the

Q .1 1   S elec t  the mos t appropr iate option that  c an replace the under l ined s egment in the          
given s entence.

The meeting was  pos tponed bec aus e it  was         not  attended by  enough people to  make 
it  val id .  

A ns  1. treason
2. tyranny
3. inquorate
4. dissolved
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Q .1 2   S elec t  the mos t appropr iate adverb to  fil l  in the blank .         

The route was  ____________ eas y  for  us  to  fo l low.       
A ns  1. fairly

2. so
3. slightly
4. hardly

Q .1 3   S entences  of a  paragraph are given below in jumbled order.  A rrange the s entences  in         
the c orrec t  order  to  form a meaningful  and c oherent paragraph.      

A .  T ime s eemed s us pended in that  moment ,  s tretc hed thin l ike the twi l ight  between                
day  and night . 
B.  The dec is ion hung between them;  a  ques t ion unas ked but ful ly  known.         
C .  No one moved ,  as  i f  motion its elf  would  break  the fragi le truce.             
D.  S i lence wrapped around them, not  as  c omfort ,  but  as  ac knowledgment .           

A ns  1. BDAC
2. ABCD
3. CBAD
4. DCBA

Q .1 4   S elec t  the option that  bes t  c onvey s  the meaning of the given proverb.        

D is c ret ion is  the better  part  of  valour       
A ns  1. Keeping secrets is smart

2. Courage and caution are equally important
3. Prudence is superior to recklessness
4. Bravery always triumphs

Q .1 5   Identify  the option that  bes t  des c r ibes  the meaning of the given id iom.         

A bove board
A ns  1. Operating in manner that is legitimate, honest, and open

2. Making decisions quickly without much consideration for consequences
3. Achieving success by overcoming significant challenges and obstacles
4. Performing a task with exceptional skill and precision
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C omprehens ion: 
In the following passage, some words have been deleted. Fill in the blanks using the
alternatives given. Select the most appropriate option for each blank.

Plastic pollution is ____ (1) by the accumulation of plastic waste ____ (2) the environment. It can
be _____ (3) in primary plastics, such as cigarette butts and bottle caps, or secondary plastics,
resulting ____ (4) the degradation of the primary ones. It can also be defined by its size, from
microplastics - small particles (less than 5 mm) of plastic ____ (5) in the environment - to
macroplastics.

S ubQ ues t ion No :  1 6       
Q .1 6   S elec t  the mos t appropr iate option to  fil l  in blank  ( 1 ) .            
A ns  1. causes

2. caused
3. causing
4. cause

C omprehens ion: 
In the following passage, some words have been deleted. Fill in the blanks using the
alternatives given. Select the most appropriate option for each blank.

Plastic pollution is ____ (1) by the accumulation of plastic waste ____ (2) the environment. It can
be _____ (3) in primary plastics, such as cigarette butts and bottle caps, or secondary plastics,
resulting ____ (4) the degradation of the primary ones. It can also be defined by its size, from
microplastics - small particles (less than 5 mm) of plastic ____ (5) in the environment - to
macroplastics.

S ubQ ues t ion No :  1 7       
Q .1 7   S elec t  the mos t appropr iate option to  fil l  in blank  ( 2 ) .            
A ns  1. on

2. of
3. for
4. in
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C omprehens ion: 
In the following passage, some words have been deleted. Fill in the blanks using the
alternatives given. Select the most appropriate option for each blank.

Plastic pollution is ____ (1) by the accumulation of plastic waste ____ (2) the environment. It can
be _____ (3) in primary plastics, such as cigarette butts and bottle caps, or secondary plastics,
resulting ____ (4) the degradation of the primary ones. It can also be defined by its size, from
microplastics - small particles (less than 5 mm) of plastic ____ (5) in the environment - to
macroplastics.

S ubQ ues t ion No :  1 8       
Q .1 8   S elec t  the mos t appropr iate option to  fil l  in blank  ( 3 ) .            
A ns  1. categorises

2. categorising
3. categorised
4. categorise

C omprehens ion: 
In the following passage, some words have been deleted. Fill in the blanks using the
alternatives given. Select the most appropriate option for each blank.

Plastic pollution is ____ (1) by the accumulation of plastic waste ____ (2) the environment. It can
be _____ (3) in primary plastics, such as cigarette butts and bottle caps, or secondary plastics,
resulting ____ (4) the degradation of the primary ones. It can also be defined by its size, from
microplastics - small particles (less than 5 mm) of plastic ____ (5) in the environment - to
macroplastics.

S ubQ ues t ion No :  1 9       
Q .1 9   S elec t  the mos t appropr iate option to  fil l  in blank  ( 4) .           
A ns  1. towards

2. from
3. at
4. on
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C omprehens ion: 
In the following passage, some words have been deleted. Fill in the blanks using the
alternatives given. Select the most appropriate option for each blank.

Plastic pollution is ____ (1) by the accumulation of plastic waste ____ (2) the environment. It can
be _____ (3) in primary plastics, such as cigarette butts and bottle caps, or secondary plastics,
resulting ____ (4) the degradation of the primary ones. It can also be defined by its size, from
microplastics - small particles (less than 5 mm) of plastic ____ (5) in the environment - to
macroplastics.

S ubQ ues t ion No :  2 0      
Q .2 0   S elec t  the mos t appropr iate option to  fil l  in blank  ( 5) .           
A ns  1. dispersed

2. dispersing
3. disperses
4. disperse

Q .1  Whic h of the fo l lowing is  NO T a s tate where HYV  s eeds  were mainly  us ed dur ing the            
firs t  phas e of the G reen Revolut ion?    

A ns  1. Tamil Nadu
2. Kerala
3. Punjab
4. Andhra Pradesh

Q .2  Whic h of the fo l lowing meas ures  is  rec ommended under  the 73         r d   C ons t itut ional   
A mendment to  ens ure the financ ial  s us tainabi l ity  of  Panc hay at i  Raj  Ins t itut ions  in                     
India?

A ns  1. Panchayats must rely solely on funds provided by the central government.
2. State Governments are mandated to allocate a fixed minimum fund to Panchayats.
3. Panchayats are exempt from undergoing state audits of their financial accounts.
4. Panchayats have full authority to levy and collect all local taxes without any oversight.

Section : General Studies
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Q .3  S uppos e the Himalay an region undergoes  rapid  warming leading to  the upward s hift       
of vegetat ion belts .  Whic h immediate c ons equence is  mos t  l ikely ?             

A ns  1. Tundra lichens will spread down into the foothills.
2. Mangroves will encroach into montane slopes.
3. Alpine grasslands will expand into the snowline zone.
4. Tropical thorn forests will directly replace alpine meadows.

Q .4  What do y ou mean by  the term ‘M ango S howers’?   
A ns  1. It refers to pre-monsoon rain.

2. It is a type of mango.
3. It is a mongo cultivation region.
4. It is a cultural ritual.

Q . 5   A  dairy  s oc iety  where milk  producers  jo int ly  own and run the enterpr is e is  an              
example of whic h owners hip ty pe?  

A ns  1. Private sector industry
2. Joint sector industry
3. Cooperative sector industry
4. Public sector industry

Q .6  Why  d id  G andhi  s us pend the Non- C ooperat ion M ovement in 1 92 2 ?              
A ns  1. Failure of Khilafat support

2. British promises of reforms
3. Occurrence of Chauri Chaura incident
4. Arrest of national leaders

Q .7  Whic h of the fo l lowing is  an example of s elf- employ ment?       
A ns  1. A teacher working in a school

2. A cashier working at a store
3. A farmer growing crops on their own land
4. A doctor employed in a hospital

Q .8  The firs t  woman ruler  of  Delhi  S ultanate was :      
A ns  1. Nur Jahan

2. Chand Bibi
3. Razia Sultana
4. Mumtaz Mahal
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Q .9  NIT I  A ay og developed the National  M ult id imens ional  Poverty  Index in Ind ia  in                
c ol laborat ion with whic h organis at ions?     

A ns  1. United Nations Development Programme, and Oxford Poverty and Human Development
Initiative

2. Reserve Bank of India, and Brookings Institution – Global Economy and Development
(USA)

3. International Monetary Fund, and Harvard Poverty and Human Development Initiative
4. United Nations Development Programme, and World Health Organization

Q .1 0   A s  per  the C ens us  2 0 1 1 ,  what proport ion of Ind ia’s  populat ion was  in the 0 –6 y ears                   
age group?

A ns  1. 14.1%
2. 11.1%
3. 13.1%
4. 12.1%

Q .1 1   Whic h C ons t itut ional  A mendment A c t  c ontains  detai ls  of  ac quired and trans ferred                
terr itor ies  between the G overnments  of Ind ia  and Banglades h?        

A ns  1. 103rd  Amendment Act

2. 100th  Amendment Act

3. 97th  Amendment Act

4. 102nd  Amendment Act

Q .1 2   Whic h of the fo l lowing was  the main thrus t  under  India’s  1 991  New Indus tr ia l  Po l ic y ?                  
A ns  1. Raise import tariffs

2. Limit private enterprise
3. Boost efficiency by fostering competition
4. Entrench public-sector monopolies

Q .1 3   The C entral  V igi lance C ommis s ion (C V C )  is  c las s ified as  whic h of the fo l lowing?                   
A ns  1. A Judicial Body

2. A Constitutional Body
3. A Statutory Body
4. An Extra-Constitutional Body without legal backing
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Q .1 4   Whic h of the fo l lowing was  the firs t  organis ed rural  development effort  in Ind ia?           
A ns  1. Intensive Agricultural District Programme

2. Integrated Rural Development Programme
3. Drought Prone Area Programme
4. Community Development Programme

Q .1 5   Whic h M ughal  ruler  is  as s oc iated with the or iginat ion of M ans abdar i  s y s tem?                 
A ns  1. Jahangir

2. Akbar
3. Babur
4. Humayun

Q .1 6   Whic h geomorphologic al  fac tor  mainly  explains  why  the wes tern c oas tal  pla ins  are              
narrower than the eas tern c oas tal  pla ins?    

A ns  1. Higher rainfall on the west coast
2. Subsidence of land along the Arabian Sea coasts
3. Stronger tidal currents on the west coast
4. Broader continental shelf on the west coast

Q .1 7   Whic h of the fo l lowing is  a  d is t inc t ive feature of the Indian judic iary ?              
A ns  1. The Supreme Court possesses the power of judicial review.

2. The judiciary is directly elected by the public.
3. The judiciary lacks the power to review legislation.
4. The judiciary functions as an extension of the executive branch.

Q .1 8   In whic h y ear  d id  Udham S ingh as s as s inate M ic hael  O 'Dwy er  in L ondon?                 
A ns  1. 1920 

2. 1940
3. 1930 
4. 1925 

Q .1 9   Why  are Par l iamentary  C ommittees  c ons idered es s entia l  for  Ind ian democ rac y ?                  
A ns  1. Because they reduce the role of the judiciary

2. Because they allow ministers to bypass legislative control
3. Because they replace parliamentary debates
4. Because they ensure detailed scrutiny of policies and financial matters beyond the

limited time of Parliament
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Q .2 0   S wades hi  movement was  launc hed in whic h of the fo l lowing y ears?          
A ns  1. 1906 AD

2. 1907 AD
3. 1910 AD
4. 1905 AD
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